Name : Chapter Based Worksheet

Chapter : Logarithms

Grade : ICSE Grade IX

EduSahara™ Worksheet License : Non Commercial Use

L f /0g7x=aand /og7y=b,then 73b=

(i) a3 (i) x3 (i) 3y (iv) y> (v) 3b

. log 1435 =
14

(i) 7.8333 (ii) 3.8333 (iii)) 4.8333 (iv) 5.8333 (v) 6.8333

(i) 2/log7—1log2—1log5 (ii) log7—-2log2—/og5 (iii) log6—/log2—log5 (iv) log7—log4—log5

(v) log7—1log2—Ilog5

. Find the value of xif /og 256=4
X

(i) 5 (ii) 3 (iii) 6 (iv) 4 (v) 1

. /og548 =

(i) /og748—/ogS7 (i) /og748x/og57 (iii) /0g748+/ogs7 (iv) /ogs7+/og748 (v) /og748+/ogs7

. 10g97.0000 - /0og50.0000=

(i) /0g0.9400 (ii) /0og2.9400 (iii) /0g3.9400 (iv) /og1.9400 (v) /0g9.9400

PR
. Jog —— —log—— =
Y85 978
2
(i) log 2222 (i) log 21 (i) log rone (V) o (5772) (v) lo
7 1003 75015 71671 935015 7

X
L f /0g6x—pand /ogb)/—q,then)—/—
M 6P iy 6P Giiiy 62P9 (iv) 6 PP

log 3
) ao =
.55

5772
5015

(i) /o 3 = /o 4 (ii) /o 4'/o 3 (iii) /o 3></o 4 (iv) /o 3 lo 4 (v) /o 3+/o 4
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/og48=
(i) 3.5 (ii) 0.5 (iii) 9.5 (iv) 2.5 (v) 1.5
Express log \/p3g3 in terms of /og p and /log q

fog p 3 3
(i) (ii) 3/og g— 3log p (iii) 3logp + 3log g (iv) 2/ogp+ 2/ogq (v) 3logp— 3logq
log q

/og6561729 =

(i) 7.75 (ii) 8.75 (iii) 1.75 (iv) 2.75 (v) 0.75

/0934349 =

(i) 1.e667 (ii) 2.6667 (iii)) 0.6667 (iv) 8.6667 (v) 7.6667

If (x2+y2)=51xy, then log(x—y)=

1 1 o1 1 o1 1

(i) —logx— —logy—1log7 (ii) —logx+ —/logy—log7 (iii) —/logx+ —logy+ log7
2 2 2 2 2 2

. 1 1

(iv) -2/ogx— 2/0gy+ log 7

Vo3P

s

Express /og interms of log p, log g , log r and log s
6 6 6 6 6

3 5 3 5

(i) —log p+ —log g+ 3log r—1Ilog s (ii) —/log p+ —log gq— 3log r— log s
2 6 2 6 6 6 2 6 2 6 6 6

L3 5 . 3 5

(iii) log p— = 1log g+ 3log r— log s (iv) log p— —1log g— 3log r+ log s
2 6 2 6 6 6 2 6 2 6 6 6
3 5

(v) —=/log p— —log q— 3log r— log s
2 6 2 6 6 6

If log 2 = 0.3010,/og 3 = 0.4771,/og 5 = 0.6989, /og 7 = 0.8451,
the value of/oglo,006.4800is

(i) 8.811 (ii) 0.811 (iii) 1.811 (iv) 7.811 (v) 2.811
If (x2+)2)=62xy,then 2/og(x+y)=

(i) /logx+ logy+ 3log4 (ii) logx+ logy— 3log4 (iii) logx— logy— 3log4 (iv) logx— logy+ 3log4

log27 +logl=

(i) log29 (ii) /og272 (iii) /og27 (iv) log25 (v) log26

Iflog 2 = 0.3010,/0g 3 = 0.4771,/og5 = 0.6989, /log 7 = 0.8451,
the value of/og40095 is

(i) 248.171 (ii) 246.171 (iii) 245.171 (iv) 249.171 (v) 247.171



5

20. /0g65° + /og65° =

(i) log631% (i) log6513 (i) /og651% (iv) log671% (v) Jog651°

21. /0g55.0000 + /og82.0000 =

(i) /og4511.0000 (ii) /og4510.0000 (iii) /0g4512.0000 (iv) /og4508.0000 (v) /og4509.0000

B3
22. Express /0g2 in terms of logza , /ogzb and /og2c

Vb

1 1 1
(i) 5/og a— 3/log c+ —log b (ii) 3log c— —log b+ 5/og a (iii)) 5/log a— 3/log c— — log b
2 2 2 T2 2 2 T2 2 2 2 2 T2

1 1
(iv) 5/og a+ 3/log c— =/log b (v) 5/log a+ 3log c+ = /log b
2 2 2 2 2 2 2 2

23. log, 4% =
5

(i) /og1 24 (ii) 4/og36 (iii) 4/og34 (iv) 3/og34 (v) 5/og34
5 5 5 5 5

24. log33’ —log33° =

(i) log312 (i) log332 (i) log333 (iv) log33 (v) log362

25. log 30%=
26

(i) 2/og30x6/0og2 (ii) 2/og30+6/og2 (iii) 2/og30—6/og2 (iv) 6/og2 +2/og30 (v) 2/0g30+6/0g2



Assignment Key

1) (iv) 2) (iv) 3) (v) 4) (iv) 5) (ii) 6) (iv)

7) (v) 8) (iv) 9) (i) 10) (v) 11) (iv) 12) (v)
13) (iii) 14) (iii) 15) (ii) 16) (ii) 17) (i) 18) (iii)
19) (v) 20) (iii) 21) (ii) 22) (iv) 23) (iii) 24) (ii)
25) (v)
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